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(A

RDZDDBH f(x), g(x) EERU, (g0 /)(x) & (f 0 g)(x) ERH. f@=x+2 g =L hw=x-3E93.

2
a) f(x)=x—1, glx) = T +3 a) S (go f)(x) & (hog)(x) ZENZNKDHEK.

—3x

b) () =5 500 =5

f(x)=2x+1
x—3

a) B /1 (x) ERSHEK.

9D
o f(x)=2x+3, gx)=x%>+1

d) F(0) = loga(r), gx) = 2-* b) (fTlo i) & (fo () EENENEEEE.
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b) (ho(go f))(x) & ((hog)o f)(x) ZENZNRDEK.
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TORDISDE, B8y = f(x) DISTTHD. TDOEEH y = f~1(x) DISDTE, y = f(x)
| icra | BBILIEEDTHD. y = £~ (x) DTS IETORICBZAM.
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f(xX) = —/3x+6ET3.
a) f(x) DESGEBEZTRE.

b) HEIF £~ (x) ERDEL.

o fl(x) DEEEE(BEEERE.
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d) y=f(x) DISDEEEH y = [~ (x) DTS IZHIT.
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